
         Hermes has target Puc-12 at distance:  77        (Long) bearing to target: 329.0 weapon arc:     2
         Hermes has target Puc-13 at distance:  77        (Long) bearing to target: 329.0 weapon arc:     2
         Hermes has target Puc-15 at distance:  52        (Long) bearing to target: 282.0 weapon arc:     3
         Hermes has target Puc-16 at distance:  52        (Long) bearing to target: 282.0 weapon arc:     3
         Hermes has target Puc-17 at distance:  52        (Long) bearing to target: 282.0 weapon arc:     3
         Hermes has target MB3-18 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
         Hermes has target MB3-20 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
         Hermes has target Puc-21 at distance:  62        (Long) bearing to target:  25.0 weapon arc:     1
         Hermes has target Puc-22 at distance:  62        (Long) bearing to target:  25.0 weapon arc:     1
         Hermes has target Puc-23 at distance:  62        (Long) bearing to target:  25.0 weapon arc:     1
         Hermes has target MB3-19 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
         Hermes has target Puc-14 at distance:  77        (Long) bearing to target: 329.0 weapon arc:     2
     Invincible has target Puc-12 at distance:  78        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-13 at distance:  78        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-14 at distance:  78        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-15 at distance:  55        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-16 at distance:  55        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target MB3-18 at distance:  34        (Long) bearing to target:  80.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target MB3-19 at distance:  34        (Long) bearing to target:  80.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target MB3-20 at distance:  34        (Long) bearing to target:  80.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-21 at distance:  61        (Long) bearing to target:  22.0 weapon arc:     1
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-22 at distance:  61        (Long) bearing to target:  22.0 weapon arc:     1
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-23 at distance:  61        (Long) bearing to target:  22.0 weapon arc:     1
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
     Invincible has target Puc-17 at distance:  55        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-12 at distance:  75        (Long) bearing to target: 330.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-13 at distance:  75        (Long) bearing to target: 330.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-14 at distance:  75        (Long) bearing to target: 330.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-15 at distance:  51        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-17 at distance:  51        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target MB3-18 at distance:  37        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target MB3-19 at distance:  37        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target MB3-20 at distance:  37        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target Puc-21 at distance:  61        (Long) bearing to target:  26.0 weapon arc:     1
       Coventry has target Puc-22 at distance:  61        (Long) bearing to target:  26.0 weapon arc:     1
       Coventry has target Puc-23 at distance:  61        (Long) bearing to target:  26.0 weapon arc:     1
       Coventry has target Puc-16 at distance:  51        (Long) bearing to target: 281.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Coventry has target MB3-31 at distance:  24      (Medium) bearing to target:   5.0 weapon arc:     1
      Glamorgan has target Puc-13 at distance:  76        (Long) bearing to target: 328.0 weapon arc:     2
      Glamorgan has target Puc-14 at distance:  76        (Long) bearing to target: 328.0 weapon arc:     2



      Glamorgan has target Puc-15 at distance:  53        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target MB3-20 at distance:  35        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target Puc-21 at distance:  60        (Long) bearing to target:  24.0 weapon arc:     1
      Glamorgan has target Puc-23 at distance:  60        (Long) bearing to target:  24.0 weapon arc:     1
      Glamorgan has target Puc-17 at distance:  53        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target MB3-18 at distance:  35        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target MB3-19 at distance:  35        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target Puc-16 at distance:  53        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaSlug is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 3 Number of weapons: 2
      Glamorgan has target Puc-12 at distance:  76        (Long) bearing to target: 328.0 weapon arc:     2
      Glamorgan has target MB3-31 at distance:  24      (Medium) bearing to target:   1.0 weapon arc:     1
        Glasgow has target Puc-12 at distance:  77        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-13 at distance:  77        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-14 at distance:  77        (Long) bearing to target: 328.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-15 at distance:  54        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-16 at distance:  54        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-17 at distance:  54        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target MB3-18 at distance:  34        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target MB3-19 at distance:  34        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target MB3-20 at distance:  34        (Long) bearing to target:  82.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target Puc-21 at distance:  60        (Long) bearing to target:  24.0 weapon arc:     1
        Glasgow has target Puc-22 at distance:  60        (Long) bearing to target:  24.0 weapon arc:     1
        Glasgow has target Puc-23 at distance:  60        (Long) bearing to target:  24.0 weapon arc:     1
        Glasgow has target PortStanley at distance:  85        (Long) bearing to target:   0.0 weapon arc:     1
        Glasgow has target MB3-30 at distance:  24      (Medium) bearing to target: 358.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
        Glasgow has target MB3-31 at distance:  24      (Medium) bearing to target: 358.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target PortStanley at distance:  85        (Long) bearing to target: 359.0 weapon arc:     2
      Sheffield has target Puc-13 at distance:  78        (Long) bearing to target: 327.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target Puc-14 at distance:  78        (Long) bearing to target: 327.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target Puc-15 at distance:  56        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target Puc-16 at distance:  56        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target Puc-17 at distance:  56        (Long) bearing to target: 280.0 weapon arc:     3
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target MB3-18 at distance:  32        (Long) bearing to target:  81.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target MB3-19 at distance:  32        (Long) bearing to target:  81.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2



      Sheffield has target MB3-20 at distance:  32        (Long) bearing to target:  81.0 weapon arc:     6
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
      Sheffield has target Puc-21 at distance:  59        (Long) bearing to target:  22.0 weapon arc:     1
      Sheffield has target Puc-22 at distance:  59        (Long) bearing to target:  22.0 weapon arc:     1
      Sheffield has target Puc-23 at distance:  59        (Long) bearing to target:  22.0 weapon arc:     1
      Sheffield has target MB3-30 at distance:  24      (Medium) bearing to target: 354.0 weapon arc:     2
          |________ SeaDart is an AntiAircraft weapon, in arc, and within range
                    |________  ToHit: 7 Number of weapons: 2
       Alacrity has target MB3-19 at distance:  38        (Long) bearing to target:  81.0 weapon arc:     6
       Alacrity has target MB3-20 at distance:  38        (Long) bearing to target:  81.0 weapon arc:     6
       Alacrity has target Puc-14 at distance:  76        (Long) bearing to target: 331.0 weapon arc:     2
       Alacrity has target Puc-16 at distance:  50        (Long) bearing to target: 282.0 weapon arc:     3
       Alacrity has target Puc-21 at distance:  63        (Long) bearing to target:  27.0 weapon arc:     1
       Alacrity has target Puc-23 at distance:  63        (Long) bearing to target:  27.0 weapon arc:     1
       Alacrity has target Puc-15 at distance:  50        (Long) bearing to target: 282.0 weapon arc:     3
       Alacrity has target Puc-17 at distance:  50        (Long) bearing to target: 282.0 weapon arc:     3
       Alacrity has target MB3-18 at distance:  38        (Long) bearing to target:  81.0 weapon arc:     6
       Alacrity has target Puc-12 at distance:  76        (Long) bearing to target: 331.0 weapon arc:     2
       Alacrity has target Puc-13 at distance:  76        (Long) bearing to target: 331.0 weapon arc:     2
          Arrow has target Puc-16 at distance:  57        (Long) bearing to target: 281.0 weapon arc:     3
          Arrow has target Puc-17 at distance:  57        (Long) bearing to target: 281.0 weapon arc:     3
          Arrow has target MB3-19 at distance:  32        (Long) bearing to target:  79.0 weapon arc:     6
          Arrow has target MB3-20 at distance:  32        (Long) bearing to target:  79.0 weapon arc:     6
          Arrow has target Puc-12 at distance:  79        (Long) bearing to target: 326.0 weapon arc:     2
          Arrow has target Puc-13 at distance:  79        (Long) bearing to target: 326.0 weapon arc:     2
          Arrow has target Puc-14 at distance:  79        (Long) bearing to target: 326.0 weapon arc:     2
          Arrow has target Puc-15 at distance:  57        (Long) bearing to target: 281.0 weapon arc:     3
          Arrow has target MB3-18 at distance:  32        (Long) bearing to target:  79.0 weapon arc:     6
          Arrow has target Puc-21 at distance:  60        (Long) bearing to target:  21.0 weapon arc:     1
          Arrow has target Puc-23 at distance:  60        (Long) bearing to target:  21.0 weapon arc:     1
          Arrow has target Puc-22 at distance:  60        (Long) bearing to target:  21.0 weapon arc:     1
      Brilliant has target Puc-16 at distance:  50        (Long) bearing to target: 280.0 weapon arc:     3
      Brilliant has target Puc-17 at distance:  50        (Long) bearing to target: 280.0 weapon arc:     3
      Brilliant has target MB3-18 at distance:  38        (Long) bearing to target:  84.0 weapon arc:     6
      Brilliant has target MB3-19 at distance:  38        (Long) bearing to target:  84.0 weapon arc:     6
      Brilliant has target MB3-20 at distance:  38        (Long) bearing to target:  84.0 weapon arc:     6
      Brilliant has target PortStanley at distance:  84        (Long) bearing to target:   3.0 weapon arc:     1
      Brilliant has target Puc-12 at distance:  74        (Long) bearing to target: 330.0 weapon arc:     2
      Brilliant has target Puc-13 at distance:  74        (Long) bearing to target: 330.0 weapon arc:     2
      Brilliant has target Puc-15 at distance:  50        (Long) bearing to target: 280.0 weapon arc:     3
      Brilliant has target Puc-21 at distance:  61        (Long) bearing to target:  27.0 weapon arc:     1
      Brilliant has target Puc-22 at distance:  61        (Long) bearing to target:  27.0 weapon arc:     1
      Brilliant has target Puc-14 at distance:  74        (Long) bearing to target: 330.0 weapon arc:     2
      Brilliant has target Puc-23 at distance:  61        (Long) bearing to target:  27.0 weapon arc:     1
      Brilliant has target MB3-30 at distance:  23      (Medium) bearing to target:   8.0 weapon arc:     1
      Brilliant has target MB3-31 at distance:  23      (Medium) bearing to target:   8.0 weapon arc:     1
     Broadsword has target Puc-15 at distance:  56        (Long) bearing to target: 279.0 weapon arc:     3
     Broadsword has target Puc-16 at distance:  56        (Long) bearing to target: 279.0 weapon arc:     3
     Broadsword has target Puc-17 at distance:  56        (Long) bearing to target: 279.0 weapon arc:     3
     Broadsword has target MB3-18 at distance:  31        (Long) bearing to target:  83.0 weapon arc:     6
     Broadsword has target MB3-19 at distance:  31        (Long) bearing to target:  83.0 weapon arc:     6
     Broadsword has target MB3-20 at distance:  31        (Long) bearing to target:  83.0 weapon arc:     6
     Broadsword has target Puc-12 at distance:  78        (Long) bearing to target: 325.0 weapon arc:     2
     Broadsword has target Puc-13 at distance:  78        (Long) bearing to target: 325.0 weapon arc:     2
     Broadsword has target Puc-21 at distance:  58        (Long) bearing to target:  21.0 weapon arc:     1
     Broadsword has target Puc-22 at distance:  58        (Long) bearing to target:  21.0 weapon arc:     1
     Broadsword has target Puc-23 at distance:  58        (Long) bearing to target:  21.0 weapon arc:     1
     Broadsword has target PortStanley at distance:  84        (Long) bearing to target: 358.0 weapon arc:     2
     Broadsword has target MB3-30 at distance:  23      (Medium) bearing to target: 351.0 weapon arc:     2
     Broadsword has target MB3-31 at distance:  23      (Medium) bearing to target: 351.0 weapon arc:     2
       Plymouth has target Puc-16 at distance:  58        (Long) bearing to target: 280.0 weapon arc:     3
       Plymouth has target Puc-17 at distance:  58        (Long) bearing to target: 280.0 weapon arc:     3
       Plymouth has target MB3-19 at distance:  30        (Long) bearing to target:  81.0 weapon arc:     6
       Plymouth has target MB3-20 at distance:  30        (Long) bearing to target:  81.0 weapon arc:     6
       Plymouth has target Puc-12 at distance:  79        (Long) bearing to target: 325.0 weapon arc:     2
       Plymouth has target Puc-13 at distance:  79        (Long) bearing to target: 325.0 weapon arc:     2
       Plymouth has target Puc-14 at distance:  79        (Long) bearing to target: 325.0 weapon arc:     2
       Plymouth has target MB3-18 at distance:  30        (Long) bearing to target:  81.0 weapon arc:     6
       Plymouth has target Puc-22 at distance:  59        (Long) bearing to target:  20.0 weapon arc:     1
       Plymouth has target Puc-23 at distance:  59        (Long) bearing to target:  20.0 weapon arc:     1
       Plymouth has target Puc-15 at distance:  58        (Long) bearing to target: 280.0 weapon arc:     3
       Plymouth has target MB3-30 at distance:  24      (Medium) bearing to target: 349.0 weapon arc:     2
       Yarmouth has target Puc-16 at distance:  49        (Long) bearing to target: 281.0 weapon arc:     3
       Yarmouth has target Puc-17 at distance:  49        (Long) bearing to target: 281.0 weapon arc:     3
       Yarmouth has target MB3-18 at distance:  39        (Long) bearing to target:  83.0 weapon arc:     6
       Yarmouth has target MB3-19 at distance:  39        (Long) bearing to target:  83.0 weapon arc:     6
       Yarmouth has target MB3-20 at distance:  39        (Long) bearing to target:  83.0 weapon arc:     6
       Yarmouth has target Puc-12 at distance:  74        (Long) bearing to target: 331.0 weapon arc:     2
       Yarmouth has target Puc-13 at distance:  74        (Long) bearing to target: 331.0 weapon arc:     2
       Yarmouth has target Puc-14 at distance:  74        (Long) bearing to target: 331.0 weapon arc:     2



       Yarmouth has target Puc-15 at distance:  49        (Long) bearing to target: 281.0 weapon arc:     3
       Yarmouth has target Puc-21 at distance:  62        (Long) bearing to target:  28.0 weapon arc:     1
       Yarmouth has target Puc-23 at distance:  62        (Long) bearing to target:  28.0 weapon arc:     1
       Yarmouth has target MB3-30 at distance:  24      (Medium) bearing to target:  10.0 weapon arc:     1
       Yarmouth has target MB3-31 at distance:  24      (Medium) bearing to target:  10.0 weapon arc:     1
          HA6-1 has target Puc-15 at distance:  51        (Long) bearing to target: 154.0 weapon arc:     5
          HA6-1 has target Puc-17 at distance:  51        (Long) bearing to target: 154.0 weapon arc:     5
          HA6-1 has target MB3-18 at distance:  37        (Long) bearing to target: 318.0 weapon arc:     2
          HA6-1 has target MB3-19 at distance:  37        (Long) bearing to target: 318.0 weapon arc:     2
          HA6-1 has target MB3-20 at distance:  37        (Long) bearing to target: 318.0 weapon arc:     2
          HA6-1 has target Puc-16 at distance:  51        (Long) bearing to target: 154.0 weapon arc:     5
          HA6-1 has target MB3-31 at distance:  23      (Medium) bearing to target: 240.0 weapon arc:     3
          HA6-2 has target Puc-15 at distance:  52        (Long) bearing to target: 202.0 weapon arc:     4
          HA6-2 has target Puc-17 at distance:  52        (Long) bearing to target: 202.0 weapon arc:     4
          HA6-2 has target MB3-18 at distance:  36        (Long) bearing to target:   3.0 weapon arc:     1
          HA6-2 has target MB3-19 at distance:  36        (Long) bearing to target:   3.0 weapon arc:     1
          HA6-2 has target MB3-20 at distance:  36        (Long) bearing to target:   3.0 weapon arc:     1
          HA6-2 has target Puc-16 at distance:  52        (Long) bearing to target: 202.0 weapon arc:     4
          HA6-2 has target MB3-30 at distance:  24      (Medium) bearing to target: 284.0 weapon arc:     3
          HA6-2 has target MB3-31 at distance:  24      (Medium) bearing to target: 284.0 weapon arc:     3
          HA6-4 has target Puc-15 at distance:  54        (Long) bearing to target:  41.0 weapon arc:     1
          HA6-4 has target Puc-17 at distance:  54        (Long) bearing to target:  41.0 weapon arc:     1
          HA6-4 has target MB3-18 at distance:  34        (Long) bearing to target: 205.0 weapon arc:     4
          HA6-4 has target MB3-19 at distance:  34        (Long) bearing to target: 205.0 weapon arc:     4
          HA6-4 has target MB3-20 at distance:  34        (Long) bearing to target: 205.0 weapon arc:     4
          HA6-4 has target Puc-16 at distance:  54        (Long) bearing to target:  41.0 weapon arc:     1
          HA6-4 has target MB3-31 at distance:  23      (Medium) bearing to target: 120.0 weapon arc:     5
          Sea-6 has target Puc-15 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-6 has target Puc-17 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-6 has target MB3-18 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-6 has target MB3-19 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-6 has target MB3-20 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-6 has target Puc-16 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-6 has target MB3-30 at distance:  25      (Medium) bearing to target:   2.0 weapon arc:     1
          Sea-7 has target Puc-15 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-7 has target Puc-17 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-7 has target MB3-18 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-7 has target MB3-19 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-7 has target MB3-20 at distance:  36        (Long) bearing to target:  81.0 weapon arc:     6
          Sea-7 has target Puc-16 at distance:  52        (Long) bearing to target: 281.0 weapon arc:     3
          Sea-7 has target MB3-30 at distance:  25      (Medium) bearing to target:   2.0 weapon arc:     1
          Sea-7 has target MB3-31 at distance:  25      (Medium) bearing to target:   2.0 weapon arc:     1
          Sea-8 has target Puc-15 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-8 has target Puc-17 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-8 has target MB3-18 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-8 has target MB3-19 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-8 has target MB3-20 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-8 has target Puc-16 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-8 has target MB3-30 at distance:  25      (Medium) bearing to target: 355.0 weapon arc:     2
          Sea-9 has target Puc-15 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-9 has target Puc-17 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-9 has target MB3-18 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-9 has target MB3-19 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-9 has target MB3-20 at distance:  33        (Long) bearing to target:  80.0 weapon arc:     6
          Sea-9 has target Puc-16 at distance:  55        (Long) bearing to target: 280.0 weapon arc:     3
          Sea-9 has target MB3-30 at distance:  25      (Medium) bearing to target: 355.0 weapon arc:     2
          Sea-9 has target MB3-31 at distance:  25      (Medium) bearing to target: 355.0 weapon arc:     2
###############   DONE   ###############


